Email: sales@impulseautomation.co.uk
Website: www.impulseautomation.co.uk

Ise

Automation

Compact Cylinder Mountings

Rod Ends For Piston @ 12mm - 100mm

Clevis
Order No. 2 A B D D, D, E F L L N R
19.008.07 12 o) 12 Mé 6 10 9 0,5 31 24 12 0,5
19.008.08 16 8 16 M8 8 14 12 0,5 42 32 16 0,5
19.008.09 20-40 10 20 M10x1,25 10 18 15 0,5 52 40 20 0,5
19.008.03 50-63 12 24 M12x1,25 12 20 18 0,5 62 48 24 0,5
19.008.05 80 16 32 M16x1,5 16 26 24 1 83 64 32 1
19.008.06 100 20 40 M20x1,5 20 34 30 1 105 80 40 1
Self Angling Joint
Order No. (7] A B C D E F G H | L M CH B° | CH,;
19.010.07 12 M6 x 1 35 10 3,5 17,5 6 8,5 | 14,5 | 13 1 10 5 10 7
19.010.08 16 M8 x 1,25 57 20 4 28,5 8 12,5 19 17 2 20 7 10 11
19.010.09 20-40 M10 x 1,25 71 20 5 35 14 22 32 30 2 20 12 10 19
19.010.03 50-63 M12x 1,25 75 24 5 35 14 22 32 30 2 20 12 10 19
19.010.05 80 M16x 1,5 103 32 8 54 22 32 45 41 2 32 20 10 30
19.010.06 100 M20x 1,5 119 | 40 8 54 22 32 45 41 2 40 20 10 30
Spherical Rod End
Order No. o B | c | D | D | D D; D, | Ds DK | L | L |
19.009.07 12 9 6,75 ¢} 8,9 20 Mé 10 13 12,7 30 12 40 5 11
19.009.08 16 12 9 8 10,4 | 24 M8 12,5 16 15,875 36 16 48 5 13
19.009.09 20 - 40 14 1105 10 | 12,9 28 M10 x 1,25 15 19 190,05 43 20 57 6,5 15
19.009.03 50-63 16 12 12 154 32 MI12x1,25 | 17,5| 22 22,225 50 22 66 6,5 17
19.009.05 80 21 15 16 | 19,3 | 42 M16x 1,5 22 27 28,575 64 28 85 8 23
19.009.06 100 25 18 20 24,3 | 50 M20x1,5 |27,5| 34 34,925 77 33 102 10 27
Dimensional drawings
Self Angling Joint
D1 A
J CH
B Spherical Rod End L
@)
c D2 (i F — o
o — ‘ — |
H 2
) ‘ LMJ ‘ ]
\ \ \ L__i i
X o ¢ 454 - ‘ S = Y
I
. A LLCH]
; 3 i Be -
i ) AN .6 .|
‘ ! T k==
\ \ \
. | ¢ | Clevis e
- Retaining spring |
|
7 | |>‘<| clip & pin L J N T
Ds _,nT Ds included
- (not shown). T
W Ds |

Impulse Automation Limited
United Kingdom
Company Registration 665193

Information shown in these data sheets are for guidance purposes only, no liability is accepted for any errors or omissions.
The designer or user is solely responsible for the safe and proper use of these parts, assemblies or equipment described.

Document No: MS1004 Revision 1





